12 Billantziko txiki eta zaharra

(mutil dantza)

0 = p—— -y I W~ — D} ._'_P:q
= — . . — — > -
L \ — i —
a = T T ::=
bilantziko ezker
[} —— = — —
Y ._'_F—P; Py ! \ ——
7 \ o) — o Py —
[ fan \ \ \ \ C — —— e \ 1 °
\;3} I :J:= f = I - i I — v
eskuin buelta eta erdi buelta eta erdi
/ 3 :
Goe—eo e e e e S e e e
) ! —_— —— —

bilantziko

aintzina pasa

S e Pt e e, 5 o #

6= = .
buelta eta erdi gibela pasa
1 2
) e e e e
p~ \ I ————
\\SV AN ] \ \ hd \ | \ \ I hd
') — = T —

buelta eta erdi

buelta eta erdi

aintzina pasa



